A8R-SL Packing List

QTY NAME PICTURE NO.| QTY | NAME PICTURE

Left Frame .
Module
(Include .-
1 Motherboard module 21 2 350mm Rod
and Left support
plate)
Right Frame
Module 350mm
1 (Include power 22 2 Threaded
supply and Right Rod
Support Plate) TR TV G et
Front Plate
1 (include Y belt 23 4 388mm Rod
bearing)
Frame 420mm
1 CrossBeam 24 2 Threaded
Rod
1 Back Plate 25 2 Panel Cable

Middle Bottom

1 Plate

(Include Z end-
stop)

26 2 Belt

2 Top Lock Plate

(Left and right) 27 10 Zip Tie

1 kit | Filament Rack 28 1 Hotbed

"H" Module
(Include H plate
29 1 and 4 linear
bearings)

1 Panel Control

SD Card
Reader

2 Z Axis Stepper 30 1

left  right




Y Axis Stepper

11 1 (include Y End- 31 1 SD Card
Stop)
PC Masking

12 1 Extruder Module 32 1 Sheet

Left Link Block 0.25K

(Include St ., . {¢]
13 1 ;Csizzg Soecigir 33 1 Filament

Screw)

Right Link Block
14 1 (Include M8*15 Set 34 1 1.f:mbluss

Screw and Spacer able

M3X12 (For 1.5m Power
15 2 Panel Control) 35 1 Line
16 9 Tools
444 mu»\\“"
17 30 M3X10 ﬁf“ a & &‘\\w\\ M3X10 Socket Cap Screws are widely used elsewhere.
18 | 6 kits | P Ctamp and M4X6 Phillips Button Head Screw
Screw Set 12mm P Type Clamps
19 | 12 kits M8 Nut set Nuts for 420mm Threaded Rods, each set includes M8 nut,
washer and spacer.

20 | 4 kits Hotbed Fastener Hotbed M3*25 Phillips scew, M3 nut, Spring and "M3 knurled cap

Set

nut"




